Calculus I, 21-111
Test 2 Make-up problems
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Note: No ‘:alculators or electronic devices of any sort are allowed. Show all
work neces ary to obtain your answers. No credit will be given for answers
without jus ification.
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3 (20 p 'ints) You wish to build a box with'no top. You have 12 cm? of
mater al to work with. What is the larget volume box you can make?
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4 (20 pints) A hockey team plays in an arena with seating capacity of

15,00t .

of 11.

dollax

peopl

Charging a ticket price of $13, they have an average attendance
100 people per game. Their market research indicates that for every
they reduce the price of a ticket, attendance will increase by 41000
per game.

(a) | ind the demand function, assuming it is linear.
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'vhat price should they charge to maximize revenue?

..ssume there are fixed costs of $40,000 per game to open the arena,
:rd the team pays $4 per ticket-buyer for security and janitorial
¢« xpenses. What price should they charge to maximize their profit?
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5 (20 pr ints) A stone is dropped into a calm body of water, causing a circular
ripple The area of the ripple grows at a rate of 2 cm? per second. Find
the r: te of change of the radius when the radius is 5 cm.

L )y -7
A = iy © c(T‘:’ A A&IV:L; ‘

=T g
;'/ f-.’ } (j(t )’:;6-




